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eigenvector components) and which with the accordian mode (opposite signed eigenvector components)? Is the
response term tandem or accordian? \
I) Write each of these sinusoidal functions y, , and y, , in phase-shifted cosine form stating explicitly (Ap 81)

and (Az, 82) respectively, making a completely labeled diagram in the sinusoidal coefficient plane that supports

your work for each case.

optional (ignore, this is for future students):

m) If you plot one cycle of the two solution functions #=0..T, you see a global maximum departure from the
origin (i.e., maximum absolute value) in one of the two variables. Identify this variable and its approximate
extreme Value and the value of ¢ at which it occurs to 3 decimal places.

b solution

'y pledge

[ When you have completed the exam, please read and sign the dr bob integrity pledge and hand this test
sheet stapled on top of your answer sheets as a cover page, with the first test page facing up:

"During this examination, all work has been my own. I have not accessed any of the class web pages or any
other sites during the exam. I give my word that I have not resorted to any ethically questionable means of
improving my grade or anyone else's on this examination and that I have not discussed this exam with
anyone other than my instructor, nor will I until after the exam period is terminated for all participants.”

Signature: Date:
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